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Bellwork: Find the vertex and x-intercepts of
the function — -
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Today's Objectives:

| can graph and write quadratic functions
and identify key features
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PoLYNOMIAL FORM

f(x) =ax’ +bx+c

INTERCEPT FORM

f(x)=a(x-p)(x-q)

VERTEX FORM

f(x) :a(x—h)z +k

1 . M r
J L What information does J L each form provide? J L
e \/ Y \/

N ™
The c is the y-intercept: (0,¢)

The a is the vertical stretch.
The sign of a indicates whether
the graphed parabola opens up
(+) or down (-).

The p and the g are x-intercepts:
(p,0), (¢.0). In the formula they
are negative, so use the opposite.
The a does the same as in
polynomial form.

The vertex of the graphed
parabola is found at {h, .-'r) . Use

the opposite for k. The axis of
symmetry isat x=~4h.The a

does the same job.

simplify

complete
the square

multiply &

Polynomial Form
j‘(.\‘] =ax* +bx+c

factor to

2 binomial,

Intercept Form

(x)=alx-p)(x~q)
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Write each function in the two forms other than what's given.
Identlty key features: \‘\h-memepts vertex, axis of symmetry.
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WRITING QUADRATIC FUNCTIONS

GIVEN A VERTEX, OR XINTERCEPTS Use the appropriate form and plug in the given values.

PASSING THROUGH A GIVEN POINT This is usually given so that you can find the value of a. Substitute

the given coordinates (x, ¥) for x and f(vc] respectively. Then solve for a.

CLUES FROM A GRAPH If the graph shows clearly a vertex or x-intercepts, use them. You can also find a on
a graph; it is the vertical change in the graph one unit to the right of the vertex.

Write a quadratic function with vertex at (-5. 7)
and passing through (1. 25).
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gz a(ss)+ 7 ‘
7:571 3L at 25 L
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Write a quadratic function with x-intercepts at (1, 0) - ( _Mx_ ﬂ
@ and (9, 0), passing through (3, 12). F ('7L\) - X
y=a (-1

PR |/27lkt
2 = a(D(2 -2 7)?
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